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B.: (1) Queétion no. 1is compulsory.
(2) Answer any four out of the remaining questions. Q
1.  One of India’s large Retail Departmental Chains, with annual r@es touching $2.5
billion mark and having over 3600 employees working at diverse | ons, was keenly

interested in a business intelligence solution that can bring clgar insights on operations and
performance of departmental stores across the retail chain. Th pany needed to support a
data warehouse that exceeds daily sales data from Point gf Sale ) across all locations, with
80 million rows and 71 columns.

(a) List the dimensions and facts for above ap hca% 05
(b) ‘Design Star schema and snow flake schema¥Qr the®dbove application 05
(C) Design a Bl application which will provide QetaféChain Company with features

and performance that meet their oMﬂe wling any data mining technique. 10

2. {a) What are the Major issues infagta nfhing. oe
(b) Explain data Mining Task Prir 06
(c) Explain Fact less fact tableqyith séable example. 08
3. {a) Whatis web minin dﬁ) web content mining. 10
{b) Explain any one meg&f hierarchical clustering with an example. , 10
4. {a) Adatabase has@ransactions. Let minimum support and confidence is 50%.
Tid {tems Bought '
| \_ %1 A,B,D
J—:¥ 2 AD
3 AC
4 "B,D,EF

$nd out the frequent item sets and strong association rules for above exa mple. 05

) Explain multi dimensional association rules with example. 05

(b) Explain multilevel association rules. 05

(c) Explain constraint based association rule mining. 05

5. {a) Describe Data Discretization, Summarization with an example 07
(b) Explain Numerosity Reduction in data preprocessing : 06

(c) Explain BIRCH method of clustering with an example. 7



(a) Describe Data Discretization, Summarization with an example 7
(b) Explain Numerosity Reduction in data preprocessing . Q

(¢} Explain BIRCH method of clustering with an example. o7
6. (a) Using given table . Create classification model using any algorithm an 10
hence classify following tuple.<income =medium, credit =gogd>
Transaction id income Credit Q?cisiqpm_____
1 Very High Excellent®q Authorize
2 High - Good Authorize |
B 3 Medium Excelgaiy Authorize |
4 High Goot? Authorize
5 Very High N od Authorize
6 Medium - celient Authorize
7 High \ Bad Request ID
8 Medium Bad RequestID
9 Hi ' Bad Reject
10 Q v Bad Call Police
(b} Explain K-means c{&ing and solve the following with K= 2
{2,25,10,15,€2a4,40) 10
7.Write shorg notes on (ANY TWO) ; - - 20
(a) Spat@ YLAP hd
(b} AS n rule mining in Data stream

{ pproaches in Text Mining
quence Mining in transactional Data base



